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No. of Questions/aeAl &1 WeAT : 100
No. of Pages for Questions/uel & T3 3 GAT : 28

Time :2% Hours ] [ Full Marks : 300
w23 g ] [ goife : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section — A and 70 in Section — B). Attempt as many questions as
you can. Each question carries 3 marks. One mark will be deducted for
each incorrect answer. Zero mark will be awarded for each unattempted

question.

9 JEA-gRa®T # ger 100 (A1) U £ (@ve — 31 # 30 T |@vs — 9 H 70) |
ANPITE T2l BT BT B BT WIS B | GAD YT 3 3(F &1 8 | FodP Tored
SR @ [y UF 3% HIeT GraiT | USSR Ue &1 UTdid I 81|

(2) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

gfe upIide dbfeus STR WE) S¥ & fAee ydd 8, af Macdy 98 SR 2|

(1) P.T.O.
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1.

SECTION-A
Qg -3
If a student disturbs a teacher while teaching in a class and asks questions
repeatedly, what the teacher shall do ?
(1) Ignore (2) Listen
(3) Asknot to disturb (4) Make a complain to the principal

Iy etl | UgTd WHA Bl BTF IR-GR U BHR Ja Sq~ el & ol 3edisd
@ FIT HAT AR ?

(1) S¥ W e & <A1 ARy 2) SHP) AET BT GAA AR
(3) S W F B B forg we ARy (1) fRime § Swe Rrema s anfey

In setting a paper you will pay more attention on :

(1) Content (2) Distribution of questions
(3) Construction of questions (4) Duration of the paper
TP YR BT [T BRA GHY AT e A

(1) 9reg a8 W (2) wei $ AR w

() weAl @ o W) (4) UIR B M@ W

Is there a need for a teacher to read regularly before going to a class ?

(1) Not at all because while teaching regularly, everything remain on finger tips
(2) Occasionally needed

(3) If there is any difficulty /query only then it is required

(4) Itis always needed

FqT f wem #§ g™ @ gl JEATTD P AIAd TT A g+ wae & ?
(1) e 98 Fifd AR Ugkd gU 9 91 a1g 8 oI 8

() ®N-HH STeRg B ®

(B) Il g FHfSAE /v & ar I

(4) TE [T TE B

A teacher is required to be trained so that he/she may teach in a class :
(1) With ease (2) Without disturbance

(3) With Discipline (4) With efficiency

T HedTges B UfRiferd BT STee) © aifds a8 Fen ¥ Ul 9o

(1) I & e 2) f&=1 & arn & e

(3) IIIRAT & 1S 4) HIAA B A1
(2)
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If some students are not taking interest in your class, then you will :
(1) Change method of teaching

(2) Punish the students who are not taking interest

(3) Arrange parent-teacher meeting

(4) Don't care about the students

e HB BT ATIS] Fell § B2 76l of W €, 1 3

(1) fRreror fRAfy § aRada e

(2) S BET BT T BT A8 o @& © SIS QI

(3) SAfITaR-eqTPS He= B AR I

(4) BT D PIS URATE TEl Bl

The most significant role of a teacher in a class is to act as a person who is
intended to :

(1) Teach content to the students (2) Ensure discipline among students
(3) Train the students (4) Guide the students

TP eI @) qdifte Hewaqel YAET, e # Ue U Afdd PR & S

(1) BTEI B vy g U (2) BEl B SR &

(3) B B yfererd & (4) BT BT AL B

The best significant approach of evaluation is :
(1) Annual examination

(2) Test

(3) Continuous and comprehensive evaluation
(4) Essay type examination

AR HT He HEaqol IaH 2
(1) a1f¥e o_tet 2) =
(3) W{Aq UG A9h Hedidh 4) freereEs e

To handle a problem child in a class, a teacher may follow a technique of :

(1) Providing him/her with more and more assignments

(2) Making him/her monitor of the class

(3) Punishing him/her frequently

(4) Trying to find out the reason of such behaviour while wasting own time
el Pefl o WHRT 9Ii Bl GHIG B (I egTad &1 {5l 0d adbiie Bl I
P STENT BT B

) S e 9 ifde B By @ forg R s

) I FET BT AFEER 991 fEar e
)
)

1
)
3
4

YN THG BT A PRI gU SHB W TWAER & HRON Bl WAl T

(3) P.T.O.
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9.

10.

11.

If after joining as a teacher in a school, a trained teacher luckily obtains a clerical
job in a public sector, he/she may think and ..................... )

(1) Must join as a clerk, quitting teaching profession

(2) Continue as a'teacher

(3) Avail leave to join the clerical job

(4) Join clerical job if there is a better prospect and perks/facilities are available

fosdl faemera & sedmues & w0 F ANTEE BRA b 9 afe faedy ufdfeia srage @
WHET a3 H fafis o e A S 8 aF S0 QEaT aifgt 3R e,

(1) AU B AB B BIEHR fIfie & U W ANTEE B ATy
(2) I AT § B YEAT ARy
3) W@dﬁﬁmfﬁfﬁm&#qﬁ{wwmm B AT AT(RY

)

@) w0 e @ o 4 aft o oed smwR SR gRvm e ¥ @l drem
P AT =AMMEY

"Teaching' is considered as a more suitable profession for ladies than that of
gentlemen because ..........c.......... .

(1) Itrequires less time and energy

(2) Ladies can handle children better and more psychologically

(3) Teaching is notia paying job for gentlemen in comparison to a job of
physician or an engineer

(4) Only those persons who are having more patience and tolerance power can
do well as a teacher.

’%m’ﬁgwﬁaﬁmﬁﬁ%wﬁaﬂ%ma%mwwm%

(1) SOH HF F99 3R HF & STod B}l &
)WWﬁW%ﬁWWW@WWﬁ?
)Waﬂ%mﬁrm eraer (BRorRrge) a1 sl R @1 gof § &9 amar

ﬂﬁ%gmaﬁmmeﬁqwﬁaméma%wwmﬁ

If in a circular track of race course, ‘A’ is running in clock wise direction from the
north end then which dltectlon he will face while completing 3/4th part of total
distance ?

(1) West (2) East (3) North (4) South

uﬁﬁﬂﬁfﬁamaﬁ@zﬁﬁamﬁ‘a’ﬁﬁm?ﬁa@a%qéaﬁﬁwﬁﬁ@m%aﬁ
e A 0 77 R B I8 SadT e fea R | g v

(1) ufd=m 2) T (3) I (4) afayor
(4)
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13.

14.

15.

16.

13U/92/27 (Set — 1)

Find out the missing term of the following chain :

AYC, e, ,IWK, MVO, QUS
(1) EXG 2) EZG (3) DWF (4) EPG
frafafaa e 4 < ug @1 fafay

AYC, i , IWK, MVO, QUS

1) EXG ) EZG (3) DWF 4) EPG

Find out the fourth term in same relationship

Policeman : Stick : : Teacher : ?
(1) Pen (2) Chalk (3) Book (4) Teaching
fav v srgmH # 91 g &l ferlRau -

(1) FeH ) afem (3) fHaE | (4) foreor

Find out the odd term in the given series ..................... .
Radio, Television, Newspaper, Teleprinter
(1) Radio (2) Television
(3) Newspaper (4) Teleprinter
faw 7o Soft § ere a = T @ AR SR
fEa, effasr, wHER-u, Seflfiier
(1) eI () TelifaTA
(3) FHATERYA (4) TelifiieR

If radius of a clock is of 14 centimeter, then in five hours duration what the
distance is to be travelled by the hand of second of the clock ?

(1) 264 meter (2) 254 meter (3) 256 meter (4) 260 meter

I Al v @ o 14 AR @ @ 5 've # IS Jave @l g3 oA gl
qg PR A ?

(1) 264 AR (2) 254 WX (3) 256 HeX (4) 260 #Mex

In a certain code, SIKKIM is written as THLJJL. How is TRAINING written in
that code ?

(1) SQBHOHOH (2) UQBHOHOF (3) UQBJOHOH (4) UQBJOHHO

et @re A SIKKIM &1 THLJJL forar wimar 21 S @Y # TRAINING &9 feran
TR ?
(1) SQBHOHOH (2) UQBHOHOF (3) UQBJOHOH (4) UQBJOHHO

(5) P.T.O.
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17.

18.

19.

20.

21.

Instruction :

If A, B, C, D and E are banks and A, B and C are having its branches at
Ghaziabad and Allahabad, B, C and D are having its branches at Kanpur and
Allahabad, A, E and D are having its branches at Gorakhpur and Varanasi and
C, E and D are having its branches at Kanpur and Varanasi then answer the
following questions.

farder

afc A,B,C, D3R Ed® € 8k A, B 3R C #) vy miSiamems ok gamemEns § €
B, Csﬁ?Daﬁw@mmsﬁ'\rmﬁ% A, E3R D@ sir@an TREgR 3R
IR H &, g1 C, E 3R Dﬁwwmmﬁgmﬁwﬁ@a
EESINCE S M

Which bank is having its branch at Ghaziabad but not at Kanpur ?

(1) A (2) B (3) D 4) E
3T 4 o7 TR IS | § ofdd dEqR A T8 & 2
1) A (2) B 3) D (4) E

Which Bank is having its branches at Kanpur and Allahabad but not at
Varanasi ?

(1) B (2) C 3y D (4) E

f¥r 4% P TR HITYR R FAEETE A § b aRoRe # T 7 °

(1) B (2) C 3) D (4) E
Which Bank is not having its branch at Allahabad ?

(1) B (2) C 3) D (4) E

e 4% @1 Ra1 gereETe ¥ A€ € 7

(1) B (2) C 3) D 4) E

In which city the Bank C is not having its branch ?

(1) Allahabad (2) Ghaziabad (3) Kanpur (4) Gorakhpur
fepzr wre # 9 C &7 ey TE € 2

(1) gATEEG (2) TRTaTETS (3) PR (4) TREY

Gnanam committee is related to :

(1) Continuing education of teachers

(2) National curriculum for Elementary and Secondary Education
(3) Operation Blackboard

(4) Alternative models of management

(6)
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23.

24.

25.

26.
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T BAE AR B

(1) 3Eamgdl BT aa e |

2) wafye qen Areafie RBen ¢ fou Iy geasA |
(3) SITNIH =Id a1 9

(1) U B Jdfeqd YA |

Spread and development of the Hindi language is related to : T
(1) Article 351 (2) Article 353 (3) Article 350 (4) Article 345
Ry 1 @7 faR don e f5w s ¥ wwfud g ?

(1) =g 351 (2) IT=E 353 (3) 3T 350 (4) I 345

What is TQM ?

(1) Teacher Quality Management (2) Total Quality Management
(3) Total Question Management (4) Teacher Question Management
g T A e ?

(1) 3=AYEH T Y& (2) ot O R

(3) Tl YT YA (4) 3G Ued U

KER means :

(1) Kindergarten Education Rules (2) Karnataka Education Rules
(3) Kerala Education Rules (4) Karnataka Editor Rules
KER &7 37ef g :

(1) e IET @ Sl (2) FACH TIDHIT Tl

(3) HA USHIA T (4) PP TSICR Ted

Inclusive education means :
(1) Arrangement of Education of disabled children
(2) Teaching of disabled children only by disabled teachers

(3) Arrangement of education of disabled children along with normal children
(4) Arrangement of education of different types of disabled children separately

e et &7 et ¥

(1) fawarT g=di & Rew 3 eyaven

2) faseriT gzt &1 feror dae R srams! grRT

3) fameri geat @ AW gTE @ W e @ aven

@) = geR & e gzl BT STT-TerT el &Y eaer

Central Advisory Board of Education was established in :

(1) 1918 (2) 1919 (3) 1920 (4) 1921
fr af # d=a e FoEeR a8 #Y Il g3 ol ¢
(1) 1918 (2) 1919 (3) 1920 4) 1921

(7) P.T.O.
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27.

28.

29.

30.

NUEPA isa:

(1) Medical College (2) Engineering College
(3) Government College (4) University
SR

(1) #"SH Bfer (2) sNIRRT Bl
(3) TRHN Hiersl (@) freafeme
National Education Day is celebrated on the birth day of the following :
(1) Maulana Abul Kalam Azad (2) Dr. Zakir Hussain
(3) M. K Gandhi (4) Sardar Patel

=1 A 9 frae o e W sty e fRasy qemar S &

(1) AT g BAF SIS (2) <o Y g

(3) THo o e (4) TR U<d

First school for the education of visually disabled children was established in
which of the following ?

(1) Delhi (2) Ambala (3) Madras (4) Bhopal
gftc 319 gzl o1 R & foru gsen ferey 71 # & wef verfad gam o ?
(1) feeh (2) 3T (3) "= (4) AMgTA

National Education commission was established to act as which of the
following ?

(1) High Level Advisory Body of Prime Minister of India

(2) Wing of University Grants Commission

(3) High Level Advisory Body of President of India

(4) Advisory Body of Ministry of Human Resource and Development

T 1 SMEART B o1 = # fras w9 § ord ae @ fow &) iy o) ?
(1) RA & YA & STRaOd AehR Grafd

) frwafered oFE T & @vs

(3) R B LI B ITRAY TAehR Affa

(4) 99 FEEE U4 e 79T @ SaeeR afafa

(8)
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32.

33.

SECTION-B

g -9

The vascular bundles of Cycas stem are :
(1) Conjoint and closed

(2) Collateral and closed

(3) Conjoint, Collateral and open

(4) Radial and open

AEHE B O B AdET gUeel DY B 8 °
(1) 9Yga v 9

(2) HIORRA Td g

(3) YT, Bl UG Gel

(4) 3¥g vg 9

The Prothallus of fern is :

(1) Kidney shaped

(2) Club shaped

(3) Flask shaped

(4) Heart shaped

1 BT A fHd MER FT B & 7

The word "ecosystem” was coined by :

(1) Weaver (2) E.P.Odum
(3) R.Misra

sHIREEH T BT TN Ugd fHa gdnT faar o ?

(1) G »

(3) 3MRe Ay

(9)

(4) A.G. Tansley

(2) go Yo 3MreA
(4) To Sflo =l

13U/92/27(Set-1)

P.T.O.
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34.

35.

36.

37.

Cortical vascular bundles are found in the stem of :

(1) Chenopodium (2) Mirabilis
(3) Bignonia (4) Nuyctanthes
Ffdhel dagd qued s o § wg o ¥ ?

(1) =i (2) fAvrfafora
(3) Rwifar (4) Faceery

Little leaf of Brinjal is caused by :

(1) Bacterium (2) Fungus

(3) Virus (4) Mycoplasma

T @ fafed e fArd e gRT B ¥ 2

(1) iR (2) BT

(3) aray (4) ATEPIITSHT
Development of egg into embryo without fertilization is called as :
(1) Parthenogenesis (2) Parthenocarpy

(3) Apogamy (4) Adventive Embryony
A e & & oo B 9or F e a9t FEeTr & ?

(1) wifeR (2) e

(3) T (4) vsaftea gfgarh
Which of the following disease is controlled through quarantine ?
(1) Rust of Wheat (2) Wart of Potato

(3) Wilt of Arhar (4) Red rot of Sugarcane
f=1 A @ few M & WY (quarantine) @ g1 b Smar & 2
(1) € & we P (2) T B A NEY

(3) 3ER B RAee darad (4) T B YS e HR

(10)
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13U/92/27(Set-I1)

Plant part used for extraction of opium from Papaver somniferum is :

(1) Unripe capsule (2) Ripened seeds

(3) Ripe capsule (4) Mature leaves

Vg FETHYE B HA-Al 4T NI & Feres &g uge e 8 ?
(1) fan gt dwgel (2) 9 4t

(3) TPl DA (4) gRuad e

Anticancerous drug is obtained from :

(1) Vinca rosea (2) Ocimum sanctum
(3) Terminalia arjuna (4) Adhatoda vasica
B FPRYe gar fFad g @ S 8 ?

(1) fa=sr <Iforar (2) SRTFE peHq
(3) exfaferar srgfr (4) vererer ARy

Standard size of a Herbarium sheet is :

(1) 32x40cm (2) 42x29 cm
(3) 35x20cm (4) 20x 28 cm
Us gedRad o H1 oTay TR @l el ® 7

(1) 32 x 40 cm (2) 42 x 29 cm
(3) 35x20cm (4) 20 x 28 cm

Basal placentation is found in :

(1) Brassicaceae (2) Solanaceae
(3) Asteraceae (4) Malvaceae
ey drovsard fR frer € 7

(1) Rt (2) wrerre
(3) TE (4) wrcTR

(11) P.T.O.
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42,

43.

44.

45.

Which of the following is a Saprophytic angiosperm ?

(1) Cuscuta (2) Monotropa

(3) Agaricus (4) Nepenthes

FIeT & @ @iar Jareid srgadie g & 7

(1) gwger (2) =T

(3) vIRew (4) T

The enzyme used for joining two DNA fragments is called :

(1) Ligase (2) Endonuclease

(3) Exonuclease (4) DNA Polymerase
SITEH Sl Slo UHo To & S WUE! BT SIS & B Wl &, 98 BeEaray 2
(1) @rerrs (2) TEIgFATT

(3) VRIS (4) Slo THo To e
Kreb cycle takes place in :

(1) Ribosomes (2) Mitochondria

(3) Chloroplast (4) Endoplasmic Reticulum
b9 b fad afed gar € ?

(1) Tgdr g™y (2) #EgeTHTRgT

(3) IR (4) gerenions g
The Pyramid of energy is always :

(1) Inverted (2) Circular

(3) Horizontal (4) Upright

Sl 1 fiRifre wder @r ger & 7

(1) See (2) TR

(3) fafors & gaHR (4) <wm

(12)
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47.

48.
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D.N.A. Replication takes place at :

(1) G, - phase (2) S~ phase

(3) G, - phase (4) Interphase
logAoTo BT o e sraven # g 8 ?

(1) G, — 3rawr (2) S — aravern

(3) G, - afaxer (4) ot GJENQJT

Embryo sac represents :

(1) Megagametophyte

(2) Megasporophyll

(3) Megagamete

(4) Megaspore

oTRTy fHeaT AT 8 ? |
(1) 1T FrIEHe ;

(2) Arer et

(3) et g !
(4) AT_T ST |
The enzymes which take part in glycolysis are found in : '
(1) Chloroplast (2) Mitochondria

(3) Cytoplasm (4) Vacuole
s ¥ T B A AR Bel ug o @ 2

(1) TR (2) HgTIBI=gal

(3) HArTgTIwTH (4) AH3A

(13) P.T.O.
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49. Intracellular digestion is done by :

50.

51.

(1) Lysosomes

(2) Microsomes

(3) Endoplasmic reticulum
(4) Golgi complex

3= PSR e BIam 2
(1) SIgaRIFA ERT

(2) HISHRARI §RI

(3) <I=T f3reell a1 gy

(4) sl wq=ay R

Rod cells are found in :

(1) Liver (2) Brain
(3) Eye (4) Kidney
e BIRTGR urfy ot 2

(1) adpa # (2) Afxs |
(3) == # 4) 9@ #

For which of the following the term 'Apoptosis’ is used :

(1) Cell death (2) Cell proliferation
(3) Cell division (4) Cell protection
o= 31 @ e ford) ToTeIR wrss @1y fpam o & 2
(1) ®RmE 509 (2) BT afg

(3) ®IfdrdT fAuTSTT (4) PIfRrenT JRET

(14)
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53.

54.
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The human infants fed with iodine deficient diets are likely to develop :

(1) Anemia | (2) Cretinism

(3) Cataract (4) Night blindness

A B T g @Y ST B B arel Wie Ry | B SN S
g qFdl 8 7

(1) vfAfaan (2) wRasp T

(3) e (4) <3 srerar

The mitochondrial enzymes involved in electron transport chain are found :
(1) Atinner membrane

(2) Atouter membrane

(3) In the matrix

(4) In the inter-membrane space

AESTETEaT & UfHva ol godslT Aagd @ # Word 8l 8, ¢ Ui W €
1) o< fereell w)

2) arer fareell wR

3) Afgw #

4) fofeeral & dra @ orTE A

(
(
(
(

The two strands of DNA are held together by :
(1) Phosphodiester bonds

(2) Phosphoanhydride bonds

(3) Hydrogen bonds

(4) C-C covalent bonds

U U P I S MU WIS BN B

(1) BIEBICGUER T4 gRT

(2) FRBITAETESISS a8 GRI

(3) BISSISH 4 &RI

(4) TEF-HET HYHD T gIRT

(15) P.T.O.



13U/92/27(Set-1)

55.  Synthesis of proteins in the eukaryotic cells takes place on:

(1) 70S ribosome (2) 30S ribosome

(3) 60S ribosome (4) 80S ribosome

BRHYRT BRI F W BT Heewor By B

(1) 70 UH UG ) (2) 30 U9 IEEH W

(3) 60 UH [SIAH TR (4) 80 TH ZEH U
56. The main active component of digestive juice in intestine is :

(1) Acids (2) Calcium

(3) Enzymes (4) Metal Catalysts

HMETATA & U 9 H &1 UTae R 3aqq 8l ¥

(1) areet (2) dfcaam

(3) wfg (4) o] SR

57. The genetic material of AIDS virus is :

(1) RNA (2) DNA

(3) Protein (4) Ribonucleoprotein

TS 4R BT araifde uared gar §

(1) MR T4 ¢ (2) T TA T

(3) wH (4) EIYfAeTEET
58. The composition of haemoglobin found in adult human is :

(1) a2B2 globin (2) o2y2 globin

(3) PB2y2 globin (4) 0282 globin

Qe TS R R A Ruielfe o) e 8 R

(1) 31 2 drer 2 Teifas (2) TS 2 T 2 TAfae

(3) drer 2 T 2 venfas (4) 3BT 2 TeaT 2 Telifas

(16)
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60.

61.

62.
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The main function of nucleolus is to synthesize :

(1) Nuclear membrane (2) mRNA

(3) Transfer RNA (4) Ribosomal RNA
Bfedr o &g B fFas dyeme 3 fag gar g ?

(1) o7 fareet (2) TH AR TT T

(3) FTAWR R TT Y (4) NTEEISIC R T T

Protein synthesis in prokaryotes starts with which of the amino acids :

(1) Methionine (2) Alanine

(3) F-Methionine (4) Histidine

sfee Sfdl § NEF &1 Gy fFA oA o A YR™ BT § ?
(1) A= | (2) Tanf+

(3) TH-AfAfT 4) e

During which of the following four daughter cells are produced ?

(1) Endomytosis (2) Meiosis

(3) Mitosis (4) Aberrant mitosis

fr 3 31 fpae ERM IR wafy HIRER o= gl § ?

(1) =T favrera (2) rEgA frer=

(3) R frTe (4) Frafer R Rrem

Which one shows exocrine as well as endocrine functions ?

(1) Pancreas (2) Pituitary

(3) Adrenal (4) Ovary

fop= ¥ - o e 9T B QY wfRrEl ST BT dRaT § 7
(1) s (2) foqw

(3) ufga (4) TSI

(17) P.T.O.
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63.

64.

65.

66.

Which one is known as 'fight or flight' hormone ?

(1) Glucagon (2) Progesterone

(3) Epinephrine (4) Insulin

e 5 @ P19 srerar WY s B AW QST Sy §
(1) TSHRIT (2) WO

(3) 4) sgfer

Subunit interaction in a protein is the characteristics of :

(1) Secondary structure (2) Tertiary structure
(3) Quaternary structure (4) Primary structure
ST ! arel W uRemaes @

(1) o< dem & ) T WwRe @

(3) =g wT B (4) wrafRe AR B

The protein part of the enzymes utilizing cofactors for their catalytic functions
is known as :

(1) Apoenzyme (2) Coenzyme

(3) Holoenzyme (4) Isozyme
FE-BNEG YA HA dTel UfHva & W FaRT $Y SI1 o7l &
(1) war gfdpog (2) W yfdpvg

(3) Aqzmy gfdkvg (4) a9 yfdvg

The electromagnetic radiations with minimum wave length is :
(1) Ultraviolet (2) X-rays

(3) Infrared (4) Radiowaves
YATH TET 18 BT faggagrary fafeeor & fre

(1) uRTeT= (2) TR

(3) TS (4) e

(18)



67.

68.

69.

13U/92/27(Set-l)

Methanol is soluble in water due to :
(1) Covalent bond nature

(2) lonic bond nature

(3) Hydrogen bonding

(4) Coordinate covalent bond nature
Aeerer A e @ f @ BT
(1) wEaw i

(2) amafie g ggfd

(3) EESITT a7

(4) PrfETT HETH gPpfd

Which one of the following has a zero bond order ?
forey ¥ fopaepT aTve STeR T B 7

(1) He, (2) F,

(3) N, (4) H-F

LPG (House hold cooking gas) is mainly a mixture of :
(1) Methane + Ethane (2) Acetylene + O,
(3) Butane + Isobutane (4) Acetylene + H,
TRe] do # gged @F arell 39 (LPG), e @1 e fsor g 2
(1) Ao + T (2) weiifes + O,
(3) ST + AT (4) wefeeh + H,
(19)

P.T.O.
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70.  Which of the following compounds will show geometrical isomerism ?

71.

72,

(1) Propene (2) 2-butene
(3) Propyne ° (4) 2-butyne
for DTt # @19 wanfadi wwragaar gutd ?

(1) wde (2) 2=

(3) g (4) 2-geTed

Which of the following molecular formulas will correspond to an alkene with
two double bonds ?

(1) C,H,, (2) G H,y,
(3) C, Hy, (4) CgH,,
Fret om] wrfett d B v@ e 2 Raw ) i 2
(1) C,H,, (2) CsHy,
(3) C,H,, (4) CgHy

Ethyl alcohol can react with concentrated H,S0, to give :
(1) Ethylene

(2) Diethyl ether

(3) Ethyl hydrogen sulphate

(4) All of these

(20)



73.

74,

13U/92/27(Set-)

ofdre UemIEe e AeRRe I 3 fhar @R e @ Ao §
(1) uforelr

(2) SEURIA R

(3) URret BTESIN Webe

(4) T ¥ I

Oxidation of a secondary alcohol with K,Cr,O,/H" produces :

(1) a carboxylic acid (2) aketone

(3) analdehyde (4) an ester

Javed TedEd & K,Cr,0,/H" & e 3ffaifieor I Iea=1 81l ®
(1) To FrEifRIfes o (2) TH Pl

(3) TP TeSlETES (4) TP TR

Ethers can be freed from peroxides by treatment with :
(1) Ferrous salt

(2) Sodium carbonate
(3) Sodium bicarbonate
(4) Ferric salt

RATHITSS Hal 2R TS BN e & WA 9

(21) P.T.O.
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75. Which element is used to vulcanize rubber ?
(1) P (2) Br
3 S (4) N

REY Bl qobgel BT § DIF-97 I FART By & ?

(1) P (2) Br

@) S (4) N

76. Cholesterolisa:
(1) Fat (2) Terpene

(3) Glyceride (4) Steroid

PIoReITd BraT 8, f7re -
(1) $e (2) g9
(3) TRISS (4) RfTs

77. The surface tension of a liquid vanishes at :
(1) Tripple point (2) Critical temperature

(3) Boiling point (4) Inversion temperature

fodlt g @1 g T wm @ R, fre w
(1) e fog (2) wifde am

(3) agrIH (4) gopA A




78.

79.

80.

13U/92/27(Set-1)

The coefficient of viscosity of a gas with temperature :
(1) increases

(2) decreases

(3) remains unchanged

(4) increases to some extent and then decreases

(4) UEel $B ¥A T@ dodl © AR B wed 2

The coordination number (CN) for an atom in primitive cubic unit cell is :

(1) 8 (2) 6

3) 12 (4) 16

el werffe o vaa i # i avar] @ forg erenfSers s Bl 2, e
(1) 8 (2) 6

(3 12 (4) 16

Milk is an example of :
(1) sol (2) gel

(3) emulsion (4) true solution

(23) P.T.O.
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81.

82.

I U FETER &, e &1
(1) <l (2) e

(3) AR (4) FE AregeH

In gas masks, the poisonous gases are adsorbed by activated charcoal. The
activated charcoal act as :

(1) adsorbate (2) adsorbent

(3) catalyst (4) adsorption agent

T ARF 7 TEdel I AR @ ol § weag aRee B8R 9Ed aRae
= w9 & B Pwar @

(1) VsuRee (2) tedRE=
(3) defere (4) VSENMIA Yo

Hametite is an ore of :
(1) Iron (Fe)

(2) Aluminium (Al)
(3) Chromium (Cr)

(4) Manganese (Mn)

(24)



83.

84.

therge e &1 o B
(1) MR (Fe)

(2) vyt (Al

(3) s (Cr)

(4) HTA (Mn)

Kohlrauch's law can be expressed as :

PleewrST @1 fram i w9 @ g9id § ¢

(1) Ne = )"YPO +Xg
(2) Ao =25 +Ag
(3) A=Ay — 2y

(4) ~Ap=Ag +Ac

Home Managementis a:
(1) Art

(3) Philosophy

TE JIH © U

(1) Petl

(3) ¥+

(25)

13U/92/27(Set-1)

(2) Science

(4) Both Art and Science

(2) fasm=
(4) e d s |
P.T.O.
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85. The book named 'Management in Family Living' is authored by :

86.

87.

(1) Hurlock

(3) Nickel & Dorsey

(2) Herplani

(4) Verma & Sharma

AT g9 BN forfdr ame frame foredy it 2

(1) &AF gRT

(3) ffper vad St ery

The life of Red Blood Cells is of :
(1) 120 days

(3) 200 days

TSl Xl Biorehral &1 Sfra &
(1) 120 fa=

(3) 200 fa=

Meaning of O.R.T. is :

(1) Ovum Regeneration Timing
(2) Oral Rehydration Test

(3) Ovum Regeneration Test

(4) Oral Rehydration Therapy
(26)

(2) EHAT ERT

(4) 791 w@ el gRy

(2) 420 days

(4) 80 days

(2) 420 fa=

(4) 80 29




88.

89.

aMoarRodTo ¥ aread 2 -

(1) ngn Rerres ersfdT

(2) oiRd REgsyd <
(3) afgd RSFReE X

(4) IR ReErgse IR

Deficiency of vitamin A causes :

(1) Night-blindness

(3) Kwashiorkor

faerfm ¢ & o9 | B §
(1) <l

(3) TETRIIRSR

13U/92/27(Set-)

(2) Beri-Beri

(4) Rickets

For the healing of wound, the most important vitamin is :

(1) Vitamin A

(3) Vitamin K

B RS ¥ e R f
(1) ferfam v

3) faa@a &

(2) Vitamin C

(4) Vitamin E

2) faerda @

(4) faerfa= ¢

(27) P.T.O.
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90.

91.

92,

[.S.I. mark is found on :

(1) Wheat

(3) Coffee

3TgoHoaNMSo g grar wrer &
(1) g w

(3) dMwHr W)

"Growth" refers to :
(1) Quantitative change

(3) Longitudinal change

gig” 1 e B
(1) F=THP g5g

(3) fad qEATg

(2) Rice

4) Oil

(2) Directional change

(4) Qualitative change

(2) feeTsTs sgorrg

(4) TOTHE g

Which one of these its called 'Triple Antigen' ?

(1) D.P.T.

(3) B.C.G.

(2) M.MLR.

(4) ORS.



93.

94.

fouet T e wEd § 7
(1) Srotodlo (2) THOUHOIRo

(3) dodloTilo (4) 3Mo3RoTHo

Kasuti Embroidery is a famous embroidery of the state :
(1) Kashmir (2) Karnataka
(3) Bengal (4) Punjab
oy @erd fr o A e (wfve) were @ 7

(1) TR (2) @D

(3) FITA (4) USTE

Which fibre is called 'Magic Fibre' ?

(1) Nylon (2) Silk

(3) Cotton (4) Wool
forer X9 BT TG X9 BES § 7

(1) At 2) Rrew
(3) M (4) 39 (&)

(29)

13U/92/27(Set-1)

P.T.O.
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95. Which type of approach is not used in Extension Education ?
(1) Personal (2) Group

(3) Mass (4) Public

TR R A 5 Ay o1 wanr 98 fear s & 2
(1) =fdgTa (2) aHfe®

(3) =T (4) ufeers

96. Head Quarter of W.H.O. is situated at :
(1) Rome (2) Geneva

(3) New York (4) Switzerland

FeeoUgodilo P HENAT ¥
(1) I¥ # (2) Sf=ar #

(3) =pdfe # (4) Ragsreovs ¥

97. Only deficiency of protein in diet causes :
(1) Kawshiorkor (2) Beri-Beri

(3) Riboflavin : (4) Anemia




98.

99.

13U/92/27(Set-1)
JER F BaeT W & B | T & AT ©
(1) FTARGR (2) TO-49

(3) AT (4) TR

Due to deficiency of Vitamin A deficiency disease caused is :
(1) Keratomalasia (2) Scurvy

(3) Rickets (4) Goiter

et A € @ @ 85 arar T B @ 2
(1) PREHARR (2) wHAt

(3) Ry (4) =

BMR is very slow in which period of life :

(1) Childhood (2) Adolescence
3) Youth (4) Old age

& AR A Ry NaTere & e w7a W) &4 B 8 7
(1) arearazer (2) fraRTaRen

(3) Farazen (4) g&TaRaAT

(31) P.T.O.
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100. Food standard sign on fruit products is :
(1) 18I (2) AGMARK
(3) PSA (4) FPO
T SUIST R AG WY g TR g gar 8 -
(1) 3¢ va g (2) g

(3) M wa (4) TH 0 e

(32)
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1. v gRa®T A @ 10 e 3 o & 3w & 5y F 3 7o Hie @ el
yes wel 8 &1 gRaeT W U oW OR §EE T qobel e e @) R
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ford sy} wore.uy B G T # W RY 17 37 ¥ 997 B AYH 79 9%
e = Adat 3 sigar o7 & mar T &

9. 7T UTT P SR D o) B9d (s & 99 W MG B (P ¥ A0S g4 B TR FA
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AT N |
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